Non-Infrastructure Project Work Plan - Deliverables, Costs and Schedule

Date:	April 29, 2016			
Project Number:	CML-6447(006)			
Project Location:	35 public elementary schools, 3 middle schools, and 2 high schools within	San Francisco		
Project Description:	Promote walking and biking to and from school in San Francisco utilizing t	he internationally recog	gnized SRTS program.	_
Task Summary:			Non Participating	
		Participating Cost	Cost	
Task 1	SF SRTS grant management per federal transportation aid requirements	\$219,316	\$0	Construction Engineering
Task 2	SFUSD school coordination and outreach	\$151,254	\$0	Construction
Task 3	Outreach Team to provide targeted outreach, education, and encouragement	\$71,926	\$0	Construction
Task 4	Parent/guardian champions at participating schools	\$310,587	\$0	Construction
Task 5	In-school assemblies for elementary school	\$71,000	\$0	Construction
Task 6	Bicycle rodeos for elementary schools	\$121,600	\$0	Construction
Task 7	Bike clubs for 3 middle schools	\$104,912	\$0	Construction
Task 8	Bike shop programs for 2 high schools	\$147,154	\$0	Construction
Task 9	Fiscal intermediary fees and curriculum for classroom teachers	\$129,811	\$0	Construction
Task 10	Regular walk and roll events	\$169,277	\$0	Construction
Task 11	Annual Walk and Roll to School Day	\$51,985	\$0	Construction
Task 12	Annual Bike and Roll to School Week	\$36,057	\$0	Construction
Task 13	Transportation demand management (TDM) toolkits	\$92,742	\$0	Construction
Task 14	Program Evaluation and UCSF school commute study for 16-17	\$121,379	\$0	Construction
	GRAND TOTAL	\$1,799,000		

SEE ATTACHED WORKSHEETS FOR DETAILS OF EACH TASK.

TASK 1a DETAIL: GRANT N	//ANAGEM	IENT - DPH								
Task Summary:	Manage	all aspects of SRTS	S grant management and over	erall coordination						
Schedule:		Start Date:	September 1, 2014	End Date:	August 31, 2017					
Activities/Deliverables:	1	Manage grant i	Manage grant including invoices							
	2	Complete all required LAPM forms								
		·	dy Center contract and subco	ontracts with Presidi	o YMCA, SF Bicy	cle Coalition, Wa	lk SF, and SF			
	3	Unified School	nified School District							
Staff Costs:										
Staff Time for SF Departm					Hours	Rate/Hour	Total \$			
Health Educator at SF Department	artment of	f Public Health			1248	\$42.3375	\$52,837			
ADDITIONAL FUNDS FOR S										
Public Service Aide at SF D	<u>epartment</u>	t of Public Health			1040	\$19.4884	\$20,268			
Task Notes:						Staff costs:	\$73,105			
rask Notes.					Fring	e benefit costs:	\$36,553			
						otal staff costs:	\$109,658			
					Other Costs:		. ,			
						Travel:				
						Equipment:				
						olies/Materials:				
					Tot	al Direct Costs:	\$0			
						LOCAL MATCH:				
	CONSTR	UCTION ENGINEE	RING		TASK	GRAND TOTAL:	\$109,658			

TASK 1b DETAIL: GRANT M	ANAGEM	IFNT - DDH					
TASK 10 DETAIL. GRANT IV	I	ILINI - DFH					
Task Summary:	Manage	all aspects of SRTS	grant management and over	erall coordination			
Schedule:		Start Date:	September 1, 2014	End Date:	Au	gust 31, 2017	
Activities/Deliverables:	1	Manage grant, i	ncluding progress reports a	nd final reports			
	2	Staff grant meetings and communicate with schools/ deliverables include number of new partnerships numbers of students/parents reached					
Staff Costs:							
Staff Time for SF Departme	ent of Pub	lic Health			Hours	Rate/Hour	Total \$
Health Educator at SF Depa	artment of	f Public Health			1248	\$42.3375	\$52,837
ADDITIONAL FUNDS FOR SO	CHOOL YE	AR 2016-2017					
Public Service Aide at SF De	<mark>epartment</mark>	of Public Health			1040	\$19.4884	\$20,268
Task Notes:	Τ					Staff costs:	\$73,105
					Fring	e benefit costs:	\$36,553
						otal staff costs:	\$109,658
					Other Costs:		
						Travel:	
						Equipment:	
						olies/Materials:	
						tal Direct Costs:	\$0
						LOCAL MATCH:	
	CONSTR	UCTION			TASK	GRAND TOTAL:	\$109,658

			SRTS team and all 40 school	sites reaching almo	st 16,000 childre	n, 40 principals, a	and 35 parer			
Task Summary:	champions			I I						
Schedule:	_	Start Date:September 1, 2014End Date:August 31, 2017								
Activities/Deliverables:	1		am members with school sitning at schools/ deliverable i			cooperation for a	ll planned SF			
	2	Distribute TDM toolkits to families/ Deliverables are copies of TDM toolkits distributed to each school								
	3		romote Walk/Bike and Roll to School Days/ Deliverables are number of students and families partici n Walk/Bike/Roll to School Days							
	4	Facilitate distril for individual so	oution and collection of all e	valuation surveys/	Deliverables are	copies of evaluat	ion reports			
Staff Costs:										
Staff Time for SF Unified S	chool Distri	ct			Hours	Rate/Hour	Total \$			
SFUSD Teacher on Special	Assignment	to serve as SRTS	District Coordinator		1248	\$37.87	\$47,262			
ADDITIONAL FUNDS FOR S	CHOOL VEAL	2 2016-2017								
Outreach Worker at SFUSE		(2010 2017			2080	\$31.00	\$64,480			
Task Notes:						Staff costs:	\$111,742			
						e benefit costs:	\$39,512			
					Other Costs:	otal staff costs:	\$151,254			
					Other Costs.	Travel:				
						Equipment:				
	CONSTRUC	CTION - This task	and associated budget will	oe included as	Supp	olies/Materials:				
			SF Study Center as fiscal inte			er Direct Costs:				
						LOCAL MATCH:				
					TACK	GRAND TOTAL:	\$151,254			

TASK 3 DETAIL: OUTREAC	H TEAM M	1ANAGEMENT - SF B	ike Coalition				
Task Summary:		• •	of bilingual (Spanish/Chine	• • • • • • • • • • • • • • • • • • • •			implement
Schedule:	_	Start Date:	August 1, 2014	End Date:	Au	gust 31, 2017	
Activities/Deliverables:	1	Hire, train and ma	anage team.				
	2	Coordinate with S	SRTS partnership.				
	3	Adminster contra	ict.				
Staff Costs:							
Staff Time for SF Bicycle (Coalition				Hours	Rate/Hour	Total \$
Deputy Director					150	\$37.40	\$5,610
Executive Director					80	\$50.40	\$4,032
Operations Assistant					71	\$31.50	\$2,237
Lead Outreach Staff					550	\$24.04	\$13,222
ADDITIONAL FUNDS FOR S	SCHOOL YE	AR 2016-2017					
Deputy Director					65	\$37.40	\$2,431
Executive Director					36	\$56.37	\$2,029
Operations Assistant					50	\$31.50	\$1,575
Lead Outreach Staff					240	\$29.75	\$7,140
Outreach Staff 2					240	\$23.41	\$5,618
Communications Director					36	\$38.00	\$1,368
Task Notes:						Staff costs:	\$45,262
					Fring	e benefit costs:	\$6,789
					Te	otal staff costs:	\$52,051
					Other Costs:		
						Travel:	
						Equipment:	
					Supp	lies/Materials:	
						LOCAL MATCH:	
	CONSTR	UCTION - This task a	nd associated budget will	be included as		Indirect Costs:	\$3,904
	contract	ual services with SF	Study Center as fiscal inte	rmediary.	TASK	GRAND TOTAL:	\$55,954

TASK 3 DETAIL: OUTREACH	I TEAM MA	ANAGEMENT- Wa	lk SF								
			I (Spanish/Chinese), cultura	•		•	targeted,				
Task Summary:	culturally	ally specific approaches and messages to parents at a total of 35 elementary schools. Start Date: August 1, 2014 End Date: August 31, 2017									
Schedule:	T			End Date:	Au	gust 31, 2017					
Activities/Deliverables:	1	Hire, train and n									
	2		SRTS partnership.								
	3	Administer cont	ract.								
Staff Costs:											
Staff Time for Walk San Fra	ancisco				Hours	Rate	Total \$				
Executive Director - include	es time for	Walk & Roll to Sc	hool events, overall manage	ement	100	\$39.30	\$3,930				
Program Director - primary	manager o	of SRTS at Walk SI	=		250 \$26.20						
Membership and Voluntee	r Director	- includes Walk &	Roll to School events, pare	nt outreach support	oort 120 \$23.58						
Fringe Benefit costs							\$2,661.92				
ADDITIONAL FUNDS FOR S	CHOOL YE	AR 2016-2017									
Executive Director - overall	managem	ent			40	\$76.00	\$3,040				
Policy & Program Manager	- primary r	manager of SRTS a	at Walk SF		150	\$50.00	\$7,500				
Membership and Voluntee	r Director	- includes SRTS pr	omotion via enews & socia	media	44	\$52.00	\$2,288				
Task Notes:						Staff costs:	\$15,972				
					To	otal staff costs:	\$15,972				
					Other Costs:						
						Travel:					
						Equipment:					
					Supp	lies/Materials:					
					Othe	er Direct Costs:					
	CONSTRU	ICTION - This task	and associated budget will	be included as		Indirect Costs:	\$958				
			F Study Center as fiscal int		TASK	GRAND TOTAL:	\$15,972				

TASK 4 DETAIL: PARENT/	GUARDIAN	I CHAMPIONS - SF E	Bike Coalition						
·			/guardians as champions	who understand the	particular comm	nute challenges c	of the school		
Task Summary:	commur	nity.							
Schedule:		Start Date:	August 1, 2014	End Date:	May 31, 2017				
Activities/Deliverables:	1		Onsite and offsite individual outreach to parents and guardians (promotion and meetings at school events, drop off/pick up).						
	2		e group outreach to parer	ts and guardians (re	gular area paren	t leader meeting	s).		
	3	Develop and diss	eminate support material	s for individual and g	roup parent and	d guardian suppo	rt (profiles,		
Staff Costs:									
Staff Time for SF Bicycle (Coalition				Hours	Rate/Hour	Total \$		
Lead Outreach Staff					2985	\$24.04	\$71,759		
Outreach Staff 2					3475	\$21.64	\$75,199		
							4		
Task Notes:					Future	Staff costs:	\$146,958		
						e benefit costs:	\$22,044		
						otal staff costs:	\$169,002		
					Other Costs:	T			
						Travel:			
						Equipment:	44.000		
						olies/Materials:	\$4,200		
					Oth	er Direct Costs:	ć42.000.4C		
			nd associated budget will		T. 0.1	Indirect Costs:	\$12,990.16		
	contract	ual services with SF	Study Center as fiscal inte	rmediary.	TASK	GRAND TOTAL:	\$186,192		

	Recruit ar	nd support parent	s/guardians as champions	who understand the	particular comn	nute challenges o	f the school	
Task Summary:	communi		, O					
Schedule:	-	Start Date:	August 1, 2014	End Date:	N	1ay 31, 2017		
		Onsite and offsite individual outreach to parents and guardians (promotion and meetings at school events,						
Activities/Deliverables:	1	drop off/pick up	o).					
	2	Onsite and offsi	te group outreach to pare	nts and guardians (reg	gular area paren	t leader meeting	s).	
		Develop and dis	seminate support materia	s for individual and g	roup parent and	l guardian suppo	rt (profiles,	
	3	posters, flyers, e	etc).					
	4	Arrange logistics	s with schools and parents	for walk and roll ever	nts.			
	5	Deliver program	nming for walking and bikir	g encouragement ev	ents.			
	6	Promote (before	e and after) regular walk a	nd roll events to incre	ase participatio	n.		
		Ensure that fam	ilies have the information	and capacity needed	to provide inpu	t on transportation	on projects	
	7	near schools						
Staff Costs:								
Staff Time for Walk San Fr	ancisco				Hours	Rate/Hour	Total \$	
Outreach Staff					3475	\$21.64	\$75,199	
Fringe benefit costs							\$15,040	
ADDITIONAL FUNDS FOR S	SCHOOL YE	AR 2016-2017						
Outreach Coordinator					670	\$41.00	\$27,470	
Task Notes:						Staff costs:	\$117,709	
					Т	otal staff costs:	\$117,709	
					Other Costs:			
						Equipment:		
						olies/Materials:	\$1,200	
					TOT	AL Direct Costs:	\$1,200	
						Indirect Costs:	\$5,486	
	CONSTRU	ICTION- This task	and associated budget will	be included as	TASK	GRAND TOTAL:	\$124,395	

TASK 5 DETAIL: IN-SCHOOL			RY SCHOOLS - Bay Area Children's The					
Task Summary:	Deliver in-se	chool assemblies	s teaching kids about pedestrian and b	icycle safety and er	ncouraging the	m to walk and	d bike to school.	Assemblies
Schedule:		Start Date:	September 1, 2014	End Date:		May 3	31, 2017	
Activities/Deliverables:	1	Schedule K-2	and 3-5 assemblies with 35 schools.					
	2	Perform 2 ass	emblies per elementary school - one a	assembly serving K-2	2 grades and th	ne other servi	ng 3-5 grades.	
Staff Costs:								
Staff Time for Standing Ov	ations					Hours	Rate/Hour	Total \$
Program Contractor - Bay A	Area Children'	s Theater						\$42,000
								\$0
								\$0
								\$0
Task Notes:							Staff costs:	\$42,000
						Fringe	benefit costs:	
						To	otal staff costs:	\$42,000
						Other Costs:		
							Travel:	
							Equipment:	
						Supp	lies/Materials:	
	CONSTRUCT	ΓΙΟΝ- This task a	nd associated budget will be included	as contractual serv	ices with SF	Othe	er Direct Costs:	\$29,000
	Study Cente	er as fiscal interm	nediary. Additional costs of \$29,000 a	dded to cover all 35	elementary		Indirect Costs:	
I	schools in s	<mark>chool year 2016-</mark>	2017.			TASK (GRAND TOTAL:	\$71,000

Task Summary:	Provide a	vide after-school pedestrian and bicycle education to students each of 35 elementary schools									
Schedule:	"	Start Date:	September 1, 2014	End Date:	N	1ay 31, 2017					
Activities/Deliverables:	1	Provide helmet	fitting lesson to paticipants	in programs/events a	nt Safe Routes s	school sites					
	2	Provide on-bike	rodeo to participants in pro	grams/events at Safe	Routes schoo	l sites					
	3	Provide Learn-t	o-Ride event to participants	in programs/events a	at Safe Routes	school sites					
Staff Costs:											
Staff Time for					Hours	Rate/Hour	Total \$				
Associate Director/Director	or of Bicycle	Programs			175	\$26.24	\$4,592				
YBike SRTS Program Coord	dinator				245	\$22.00	\$5,390				
YBike Operations Coordinate	ator				280	\$22.00	\$6,160				
YBike Program Staff		700 \$20.00									
ADDITIONAL FUNDS FOR S	SCHOOL YEA	R 2016-2017									
Director of Bicycle Progra	ms				100	\$26.24	\$2,624				
YBike SRTS Program Coord	dinator				720	\$22.00	\$15,840				
YBike Operations Coordinate	ator				180	\$22.00	\$3,960				
YBike Program Staff					700	\$20.00	\$14,000				
Task Notes:						Staff costs:	\$66,566				
					Fring	e benefit costs:	\$23,298				
					Т	otal staff costs:	\$89,864				
					Other Costs:						
						Travel:	\$1,575				
						Equipment:	\$8,500				
						olies/Materials:	\$5,800				
					Oth	er Direct Costs:	\$15,875				
	CONSTRU	ICTION- This task	and associated budget will b	e included as		Indirect Costs:	\$15,861				
	contractu	al services with S	F Study Center as fiscal inte	mediary.	TASK	GRAND TOTAL:	\$121,600				

TASK 7 DETAIL: MIDDLE SO	CHOOL BIKE C	LUB PROGRAM (1	LX/WEEK) - Presidio YBIKE							
Task Summary:	Establish Bio	cycle Club Progra	m at 3 Middle Schools							
Schedule:		Start Date:	September 1, 2014	End Date:		May 3	31, 2017			
Activities/Deliverables:	1	Establish midd	le school bike club program at 3 mi	ddle schools						
	2	Lead students	through in-class, schoolyard, and or	n-road bike and pede	estrian safety t	raining.				
	3	Involve bike clu	Involve bike club participants in planning for and implementing Bike to School Day event at their school.							
Staff Costs:	iff Costs:									
Staff Time for Presidio YM	CA					Hours	Rate/Hour	Total \$		
Associate Director/Director	r of Bicycle Pro	ograms				400	\$26.28	\$10,512		
YBike SRTS Program Coord	inator					500	\$22.00	\$11,000		
YBike Operations Coordina	tor					295	\$6,490			
YBike Program Staff						1350	\$20.00	\$27,000		
Task Notes:							Staff costs:	\$55,002		
							benefit costs:	\$19,251		
						To	otal staff costs:	\$74,253		
						Other Costs:				
							Travel:	\$675		
							Equipment:	\$14,950		
							lies/Materials:	\$1,350		
							er Direct Costs:	\$16,975		
	CONSTRUCT	TION- This task an	d associated budget will be include	d as contractual serv	vices with SF		Indirect Costs:	\$13,684		
	Study Cente	er as fiscal intermo	ediary.			l	OCAL MATCH:			
						TASK (GRAND TOTAL:	\$104,912		

Task Summary:	Establish B	icycle Shop Progra	am at 2 High Schools					
Schedule:		Start Date:	September 1, 2014	End Date:		May 3	31, 2017	
Activities/Deliverables:	1	Establish Bike	Shop Class at 2 High Schools					
	2	Facilitate "Earı	n-a-Bike" program					
	3	Teach traffic sa	afety skills and lead bike skills trainii	ng and on-road riding	practice			
Staff Costs:								
Staff Time for Presidio YM	1CA					Hours	Rate/Hour	Total \$
Associate Director/Directo	or of Bicycle P	rograms				656	\$26.28	\$17,240
YBike SRTS Program Coord	linator					785	\$22.00	\$17,270
YBike Operations Coordina	ator					295	\$22.00	\$6,490
Ybike Operations Staff						480	\$20.00	\$9,600
YBike Program Staff						1350	\$20.00	\$27,000
Task Notes:							Staff costs:	\$77,600
						Fringe	e benefit costs:	\$27,160
						To	otal staff costs:	\$104,760
						Other Costs:		
							Travel:	\$1,200
							Equipment:	
							lies/Materials:	
							er Direct Costs:	\$23,200
			nd associated budget will be include	d as contractual servi	ces with SF		Indirect Costs:	
	Study Cent	er as fiscal interm	ediary.			TASK (GRAND TOTAL:	\$147,154

TASK 9 DETAIL: FISCAL IN	TERMEDIA	RY FEES AND CUR	RICULUM FOR CLASSROOM	TEACHERS - SF Study	Center		
Task Summary:			ool curricula matched to CA			erticinating school	I
Schedule:	Trovide	Start Date:	September 1, 2014	End Date:		gust 31, 2017	
Activities/Deliverables:	1	Purchase curric	ula from Alameda SRTS Prog			,	
<u> </u>	2		listribute and promote curri		chools.		
Staff Costs:			, , , , , , , , , , , , , , , , , , ,	, and the first of			
					Hours	Rate/Hour	Total \$
							\$0
ask Notes:						Staff costs:	\$0
						e benefit costs:	\$0
						otal staff costs:	\$0
					Other Costs:		
	CONSTR	UCTION - This assu	mes \$50 per curricula for 40	schools. This task		Equipment:	\$2,000
	and asso	ociated budget will	be included as contractual s	ervices with SF Study		LOCAL MATCH:	
			ry. SF STUDY CENTER FEES		Supplies/Materi		4
			ARE 10% OF ALL SUBCONTR	-		tal Direct Costs:	\$2,000
			ION, WALK SF, PRESIDIO YN	ICA, STANDING		rmediary Costs:	\$127,81
	OVATIO	NS, AND SUPPLIES	•		TASK	GRAND TOTAL:	\$129,81

TASK 10 DETAIL: Regular \	Nalk and F	Roll events - SF Rike	Coalition				
TASK TO BETAIL: Negular 1	Tunk unu i	Kon events of bike	Councion				
Task Summary:	Train, su	pport, and encoura	ge parents/guardians to le	ead groups of kids to	walk or bike to s	chool on a regul	ar basis.
Schedule:		Start Date:	August 1, 2013	End Date:	M	ay 31, 2014	
Activities/Deliverables:	1	Arrange logistics	with schools and parents	for walk and roll eve	ents.		
	2	Deliver programr	ning for walking and bikir	ng encouragement e	vents.		
	3	Promote (before	and after) regular walk a	nd roll events to incr	ease participatior	٦.	
Staff Costs:							
Staff Time for SF Bicycle C	oalition				Hours	Rate	Total \$
Lead Outreach Staff					1935	\$24.04	\$46,517
Outreach Staff 2					1935	\$21.64	\$41,873
Task Notes:						Staff costs:	\$88,391
						benefit costs:	\$13,259
						otal staff costs:	\$101,649
					Other Costs:		
						Travel:	
					•	Equipment:	ć 4 200
						lies/Materials:	\$4,200
					Otne	er Direct Costs:	
					Othe	er Direct Costs:	
	CONSTRI	LICTION This took o	nd accociated budget will	he included as		Indirect Costs:	\$7,938.71
			nd associated budget will Study Center as fiscal into			GRAND TOTAL:	\$113,788
	COHLIACE	uai sei vices willi SF	Study Center as fiscal little	ermeulary.	IASK	JIVAND IOIAL.	2112,100

TASK 10 DETAIL: Regular v	walk and roll ev	ents - Walk SF							
Task Summary:	Train, suppor	t, and encourag	ge parents/guardians to lead group	os of kids to walk or bik	e to school on	a regular bas	sis.		
Schedule:		Start Date:	August 1, 2014	End Date:		May 31, 2017			
Activities/Deliverables:	1	Arrange logisti	ics with schools and parents for w	alk and roll events.					
	2	Deliver progra	mming for walking and biking enc	ouragement events.					
	3	Promote (befo	ore and after) regular walk and roll	events to increase par	ticipation.				
Staff Costs:									
Staff Time for Walk San Fi	rancisco					Hours	Rate/Hour	Total \$	
Outreach Staff						1935	\$21.64	\$41,873	
Task Notes:							Staff costs:	\$41,873	
						Fringe	e benefit costs:	\$8,375	
						To	otal staff costs:	\$50,248	
						Other Costs:			
							Travel:		
							Equipment:		
						Supp	lies/Materials:	\$2,100	
						Othe	er Direct Costs:	\$2,100	
	CONSTRUCTION	ON- This task ar	nd associated budget will be includ	led as contractual servi	ces with SF		Indirect Costs:	\$3,140.88	
	Study Center	as fiscal interm	ediary.			TASK (GRAND TOTAL:	\$55,489	

TASK 11 DETAIL: WALK AI	ND BOLL TO	O SCHOOL DAY	CF Dike Coalition					
IASK 11 DETAIL: WALK AT	ND ROLL TO	U SCHOOL DAY - S	or bike Coalition					
Task Summary:	Organize	e, promote and co	nduct International Walk an	d Roll to School Da	y in San Francisco.			
Schedule:		Start Date:	<u> </u>					
Activities/Deliverables:	1	Arrange logistic	cs with schools and parents	for Walk and Roll to	School Day.			
	2	Promote Walk	and Roll Day within school o	ommunities - news	sletter, website, po	osters, etc		
	3	Organize citywi	ide media event at highlight	ed school for Walk	and Roll Day			
	4	Follow up with	participants to help ensure	that they continue	to walk and bike			
Staff Costs:								
Staff Time for SF Bicycle Coalition					Hours	Rate	Total \$	
Lead Outreach Staff					20	\$24.04	\$48:	
Outreach Staff 2					40	\$21.64	\$860	
Task Notes:						Staff costs:	\$1,340	
						Benefit costs:	\$202 \$1,548	
			Other Costs:					
						Travel:		
					Summ	Equipment: lies/Materials:		
					Supp	iles/iviateriais:		
					-			
					Othe	er Direct Costs:	\$	
	CONSTRI	UCTION- This task	and associated budget will	he included as		Indirect Costs:	\$11	
			SF Study Center as fiscal inte			GRAND TOTAL:	\$1,66	

TASK 11 DETAIL: WALK AN	ID POLL TO	O SCHOOL DAY	Walk SE				
TASK II DETAIL. WALK AN	ID ROLL IN	O SCHOOL DAT -	vvaik 3F				
Task Summary:	Organize	e, promote and c	onduct International Walk and	Roll to School Day	y in San Francisco.		
Schedule:		Start Date:	September 1, 2013	End Date:	1	1/31/2017	
Activities/Deliverables:	1	Order incention	ves for children walking/rolling	to school			
	2		k and Roll Day within school co		letter, website, po	osters, etc	
	3	ŭ	king school buses led by SRTS μ	· · · · · · · · · · · · · · · · · · ·			
	4	Organize cityv	vide media event at highlighte	d school for Walk	and Roll Day		
Staff Costs:							
Staff Time for Walk San Fr	ancisco				Hours	Rate	Total \$
Outreach Staff					70	\$21.64	\$1,515
Fringe Benefit Costs							\$303
ADDITIONAL FUNDS FOR S	SCHOOL Y	EAR 2016-2017				·	
Outreach Coordinator 1					100	\$41.00	\$4,100
Executive Director					34	\$76.00	\$2,584
Membership and Voluntee					50	\$52.00	\$2,600
Policy and Program Manag	g <mark>er</mark>				19	\$50.00	\$950
Task Notes:						Staff costs:	\$12,052
						otal staff costs:	Ć42.0F3
					Other Costs:	otal Staff Costs:	\$12,052
					Other Costs:	Travel:	
						Equipment:	
					Supp	lies/Materials:	\$36,000
					Зарр	incs/ iviaterials.	730,000
					TOTA	AL Direct Costs:	\$36,000
	CONSTRI	LICTION - This tas	k and associated budget will b	e included as		Indirect Costs:	\$2,269
			SF Study Center as fiscal inter			GRAND TOTAL:	\$50,321

TASK 12 DETAIL: Organize	Bike and Roll t	to School Week -	SF Bike Coalition							
Task Summary:	Host Bike and	Bike and Roll to School Week each spring to support and encourage walking and biking to school.								
Schedule:		Start Date:	September 1, 2014	End Date:	N	May 31, 2017				
Activities/Deliverables:	1	Develop and ex	xecute all logistical arrangements for	Bike and Roll to School Wee	ek.					
	2	Promote Bike a	and Roll to School Week.							
	3	Follow up with	participants to help ensure that the	y continue to walk and bike.						
Staff Costs:										
Staff Time for SF Bicycle Co	oalition				Hours	Rate/Hour	Total \$			
Lead Outreach Staff					30	\$24.04	\$721			
Outreach Staff 2					70	\$21.64	\$1,515			
Task Notes:						Staff costs:	\$2,236			
					Fring	e benefit costs:	\$335			
					To	otal staff costs:	\$2,571			
					Other Costs:	Other Costs:				
						Travel:				
						Equipment:				
					Supp	lies/Materials:	\$29,946			
					Oth	er Direct Costs:				
	CONSTRUCTI	ION- This task an	d associated budget will be included	as contractual services with	SF	Indirect Costs:	\$2,438.81			
	Study Center	r as fiscal interme	ediary.		TASK	GRAND TOTAL:	\$34,956			

Task Summary:	Host Bike ar	nd Roll to School Wee	ek each spring to support and end	ourage biking and walking to	school.				
Schedule:		Start Date:	September 1, 2014	End Date:	N	May 31, 2017			
Activities/Deliverables:	1	Develop and exec	ute all logistical arrangements for	Bike and Roll to School Wee	k.				
	2	Promote Bike and	Roll to School Week.						
	3	Follow up with pa	rticipants to help ensure that the	y continue to walk and bike.					
Staff Costs:									
Staff Time for Walk San Fra	ancisco				Hours	Rate/Hour	Total \$		
Outreach Staff					40	\$21.64	\$866		
Task Notes:						Staff costs:	\$866		
					Fringe	e benefit costs:	\$173		
					To	otal staff costs:	\$1,039		
					Other Costs:	Other Costs:			
						Travel:			
						Equipment:			
					Supp	lies/Materials:			
					TOTA	AL Direct Costs:	\$0		
	CONSTRUCT	TION- This task and a	ssociated budget will be included	as contractual services with	SF	Indirect Costs:	\$62.32		
	Study Cente	er as fiscal intermedia	arv.		TASK (GRAND TOTAL:	\$1,101		

TASK 13 DETAIL: Transpo	rtation Dema	nd Management Toolkits - SF Environment		_			
Task Summary:	the followin transit conn (parents, tea incentivize v the school s	Provide customized transportation toolkits for 40 participating schools in San Francisco. Each toolkit will have the following components: 1) GIS maps showing family residential densities, walking routes, biking routes and transit connections; 2) guidance on communicating to the appropriate members of the school community (parents, teachers, students) based on feedback received from school community; 3) guidance on how to incentivize walk, bike, transit and carpool modes to school; and 4) options for parents to commute to work fro the school site. Once the toolkits are developed, outreach will be conducted to inform each school community of their transportation options.					
	Start Date:	8/1/14					
Schedule:	End Date:	5/31/17					
Activities/Deliverables:	1	GIS maps showing family residential densities, walking	routes, biking r	outes and transi	t		
	2	Working with school community on communication str	ategies (e.g. el	ementary schoo	l outreach		
	3	Guidance on how to incentivize walk, bike, transit and o	carpool modes	to school			
	4	Materials for parents to commute to work from the sch	nool site				
Staff Costs							
Position:							
			Hours	Rate/Hour	Total \$		
Project Oversight - Senior	Program Coor	dinator	100	\$61.99	\$6,199		
Project Assistant			300	\$24.85	\$7,456		
				Staff costs:	\$13,655		
			Fringe	benefit costs:			
			To	otal staff costs:	\$13,655		
			Other Costs:				
				Travel:			
				Equipment:			
				lies/Materials:	\$28,175		
				Printing Costs:	\$15,000		
				Multiplier:	\$35,912		
CONSTRUCTION.	Additional \$15	,000 in School Year 2016-2017 for printing costs.	TASK (GRAND TOTAL:	\$92,742		

TASK 14 DETAIL: BEFORE/	AFTER EVA	ALUATION - DPH							
Task Summary:	Conduct	before/after eval	uation of SRTS grant						
Schedule:	, , , , , , , , , , , , , , , , , , ,								
Activities/Deliverables:	1	· ·	t travel tallies from all classro ary reports of student travel		g in SRTS/ delivera	SRTS/ deliverables include pre-			
	2		eted parent surveys from all ary reports of parent survey	•	ng in SRTS/ delive	rables include pr	e- and post-		
	3	Track program	progress on SRTS deliverable	S					
Staff Costs:									
Staff Time for SF Departm					Hours	Rate/Hour	Total \$		
Health Educator at SF Department	artment of	Public Health			624	\$42.3375	\$26,419		
Public Service Aide at the S	SF Departn	nent of Public Hea	lth		3120	\$17.2125	\$53,703		
Task Notes:						Staff costs:	\$80,122		
					Fringe	e benefit costs:	\$18,580		
					T	otal staff costs:	\$98,701		
					Other Costs:				
						Travel:			
						Equipment:			
						lies/Materials:	\$7,678		
						nsultant Costs:	\$15,000		
			al funds of \$15K for UCSF Sci	nool Commute Stu	101 y	LOCAL MATCH:	6424 272		
	in 2016-2	2017			TASK	GRAND TOTAL:	\$121,379		